Vidar Christiansen

Econ 4620 Public economics: Seminar assignment for week 47.
Problem 1
Suppose there is a fixed number (n) of firms each earning a fixed profit 
[image: image1.wmf]p

by trading in the world market. The firms are perfectly mobile across borders and owners/managers have no location preferences. There are two identical jurisdictions that may tax the firms. With equal taxes the firms randomly choose location.
a. Analyse the tax competition between the jurisdictions and find the Nash equilibrium. 

b. Then examine the cooperative solution.

c. Finally, explain what is meant by “race to the bottom”.

Problem 2 

Suppose there are a central government and several municipalities. Both levels of government set income taxes and decide upon expenditures. 

Discuss conceivable fiscal and other externalities from the following decisions:

a) A local government changes taxes affecting labour supply.

b) A local government expands its supply of day care for children

c) A local government increases welfare payments to households in need of support.

d) A local government improves its infrastructure for the benefit of business entrepreneurs. 

e) A local government contributes to a national public good. 

Problem 3 
Give examples of how a country can affect its terms of trade by means of tax policy.  No formal analysis is required. 
Problem 4 
Many countries with low tax rates are small countries (e.g. Ireland and Iceland have low corporate taxes).

Is there an intuitive explanation for this?

But then, how can we account for the fact that there are small high tax countries. 

Problem 5

Consider taxation within a Ramsey model with heterogeneous individuals. Suppose there is a commodity with the characteristics that it generates an external cost, and low-income people have a relatively large proportion of the aggregate consumption of this good. Discuss conceivable implications for the tax design. Formal modelling is not required. 
Problem 6
Suppose firms have access to abatement technologies implying a cost of diminishing polluting emissions. Show how a tax may implement the desirable aggregate amount and allocation of abatement. 
Suppose (two) firms have non-convex abatement costs because a fixed cost is required to set up the abatement technology. Explain why a tax may not implement the social optimum. 
Problem 7 

The tax level of a country is often measured by means of tax revenue as a percentage of GDP. 
Do you see any problems with using this measure for international comparison? 
Consider specifically the case where a country has large interest/financial income, and the case where a country has a large trade balance deficit. 
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